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ma Assignment e—

Complete pgs. 352 - 354

Questions_
4, 6b, 9, 10(a-d),
11ab,15(a-d) and 20(a-d)
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m Solutions -—,seeee———

4. What s the numerical value for each
rational expression ? Tdentify any
non-permissible Values.

a) 2s-8s b Ax-3
S sy =y o
= —o& = Y=g
2 -5x+3
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Solutions ————sseee———

Yy

égb)SimpEiF\/.CDe’rermme all nen-permissible
Vvalues for +he variables.

D Bx2=13%x-10 —15 X 2.=-30
A5 + 2 =-13

£
= (6)("\—3?’5 >%)- Vx=10)

AR+
= AxX(X-H)+2(x-5)
CY &P .

3%+

) 3vy-3x
X -4
- -—3x+3§

T )
.
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Solutions ———————————

i) ‘6‘1)@’}-66{2}(%—’% ;"J_!Eix“lg= 3:.’32,624 -
. I8 ATl =
= (RIx2 IR XL18X +4) .
2.0 G%=D )
= QX(QX 2.)-2.(9%-2.)
gx-2)
=] C%e—z qx=2.)
2.(Q%=2)
= AxX=2 , X+ 2
| 2, 9
Q. S{mph?y each .producﬁ'.(@eﬁ'ermine all
non-permissible values. .
a) 2 g X b) 4m %x_L_
2)(10 %L 4m* et
- ““m'C‘“‘gcaJ o3 3
= ZOQ = e h“ﬁtO #0
L r LH:F
= “3‘007 C£0, p#O
c)3a+3bhx_4 d)xﬁ—_‘i_xfz,xﬂox
o3 a+b X*+25 XEPx2X
= 3(arB) x 4 = (=262 % 2(X+5)
71 X*+25 KA
= () = 2 (%=2)(%+5) ,REO,- 2.
< Y2425
=| 12, )
Ry
= _%,, a#=-b
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m Solutions -eeseesee———
&) d*+3d+2 x 2d +G

CéfS’Y?_(L " d2+85d+6
B zad;l) | _L@w—%&)ﬂm>

@yﬁ_y_cl X %9 +%xy‘ﬂ5
l0y+q V

2

= rndem x emny-8) X d—s)(wa)
CWbﬁ) T}/ \)()71-4-4' -—\/+

= y:rfé‘.)).x( i
| -
= (V 836V+5)

—1
= (\é)(\wo‘) yNF 1,1, 8
; (N- —-1)

|0. Divide. Express answers in Simplest

form. Tdentify any non-permissible
values.

Q) 2t~ 1
z_!.
= 2+t X 4
1
3L

1
= Rt

I
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m Solutions -—,seeee———

b)Y a3 =—qag°

I B
= S xp?
b o3
= 'El; Q#¥Q, b#0

XB=y2 XY
-] p '
(=g Xx+y) =35
-3 XAV
g =1 ox#F=Iy
5CX+Y :

d) 60+q e +C:,c1+q
~3

_ 3(Q+3) = f'CxtS‘CQtS)

5gw_3*)x :fi‘____
C_Q::S}MJ
, QFEE3

{

Il

|l

a+3




precal11ch6Review.notebook

Solutions -——————————

Il Multiply or divide as indicated.
press’ answers in Simplest form .
Detrermine all non-permissible values.

a) 9 =13 %x m
2M ™M 3
= 9 % £ X M
Plr SR G|

= o)

= 9m
18
= mM ’m#o

2

b)) XX =3%x 42, x X+3 +—_1
X=X b e . F 3

= (x- N X 24D x XAZ
CE20H7)  XOAD)

= A=) xEwEE2,0,-3

%

15" Add or subtract. £xpress answers in
simplest form. Tdentify any
Non-permissible values.

Q) 4X=3 - X-2,

G 4
= 23x-3) — J(x-2)
V3, |2
2 (L4 K-3)-3x-2)

=R
= Sx—G-3x+G
K
= 5%
3

Il
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= Solutions
b) g +;L,2

=l 1

X-3 (x~3)(x+3)
= O(X+3) + 1

(x~3XKA+3)
= Ax+271+71
CX-3)XY3)
IGx+34 x+=i3
CX=JBYX+I)

q) _a -~ g’;:&q

a+d OHEO (;3

= _Q - qala-3
Q+3 CQ+:5)CQ-Z§

=_ala-2) —-a(a-3
Ca+3Xa-2) (a+3Xa-2)
3 *=-20 —0*4q
Co+3)o-2).

QAF-3,2

a
(o+3)(a-2)

H-BXXA3)
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m Solutions -—,seeee———

20. Solve each rational CQ.LQ‘HOD jfden-l-nc’y
all non-permissible valu |

a) S-3 = 20
S 3
%[ 5_,_"! S+302]

S— 3 2(s5+3)
S—=3=28+06
— A~ = 2S-S

-9 =8 ,8+"5

by Q(_%% %i% |
Czsaeri)(x—l)[ X+ 2 _l = (3x+2)0s99 1_5_]

| (x—)(m-z) (3x+2) (X+3)
AKEL2X=|x— 3X*+aAx+2%x+ 6
X°'+X2 AX*+VIX+g
O = By 2%+ | X=X +6+ 2
O= O%x*+ 10X +8 i
Q=203+ +4)
O= 2(X+D(x+4)

O= X+ o O=X+4
“1=X “H=X, XEL
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Solutions —————————————

d) Z-0 + _L :L
52 2—2 4\—_1_] 52[ _ﬂ_—]
[z e [4] ]

5z2)+ z0) =-4H
5z-10+ z = -4

Zz="44+10
ol
©
Z2=1,2#0

d) ﬁm_ 3= (im___
Cm—S)Cﬁ'\+6) [QLED_'!- 53 = (m~3)(m+5)r Qm 1]
(m%")(m+5)rﬁm§ + -3 3)[2)= (m—Smaﬁrﬁm_]

L o3 |
3m(m+5) L 2(m=3XM+3)= (M-3)(3m-1)
AN+ 9m + 2M*3m=-3m-9) = 3m™>m-9m+3
AM*4+IM+ 2M*+ emM-em-18 = 3mM*=-10mM+3
N Mm2+I9m =18 =3m*-IOMm+3
oM™ '*Sm"-‘ranMCm—lEﬂBr-O
2T+ 19mM-21=0 2 %x!=-42
=2 2Im -2 =0 -2 %2l= {9
2mim=D)+21(m-1)=0
(=D (2m+21)=0
M-1=0 or 2m+21=0
M= - 'XW\:"Q:_‘,
1 M
M=-21 sMm*F I3
2.
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